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> 143

ans =

» 13-4

ans =

=x 12%3
ans =
3e
»> 363
ans =
12

>> x=[1 2 3 4 5]; v=1[54 32 1];
> R<Y

ans =

1x5 logical HHE

L]
L]
[
L]
L]

R =Y
ans =

1=5 logical HHE

i ST
ans =

1=5 logical HHE




433 H

»» for x = 0:2
a = 2"x
end
a=

1
a =

4
a =

le
a=

o4
a =

256
a =
1024

> oa = 3;
»>» if a < 1
b=a+1
else
c=a+ 2
end
o =

S
*»> a = 1;
»>» while a < 4
a=a+ 1
end
a =

2
a=

3
a =

4
*»»> a=1; b =
> b= 2
b=

2
== plot (=, Vv,

'MarkerSize',
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*»» £ = inline('x"3 + &6%x -2', 'x'):
>> £(3)
ans =
43
*»» £ = inline('x."3 + €%x -2', 'x"}:

>> £([3 4 5])

ans =
43 86 153
»> x = linmspace (0, 5, &)
x =
0 1 2 3 4 ]
»>» €t = linspace (0, 2%pi, 100); x = 2¥%cos(t); v = 2¥%¥zin(t);

»» plot(x, ¥)
>> plot(x, ¥):; axis sguare;
>» plot(x, ¥)

. >
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>» plot(x, ¥, "--rs', 'LineWidth', 2, 'MarkerEdgeColor' , 'k',...
'MarkerSize', 10)
»» £ = inline('x"3 + &6%x -2', 'm'):
>» £(3)
ans =
43
»>» £ = idinline('"®x."3 + &6%x -2', 'x'):

== £{[3 4 5])

ans =
43 86 153
»» X = linspace (0, 5, &©)
x =
0 1 2 3 4 5
»» t = limspace (0, 2%pi, 100); x= = 2*cos(t); ¥ = 2*sin(t):

>» plot(x, ¥)
>>» plot(x, ¥):; axi=s sguare;
»» plot(x, ¥)
>> plot(x, ¥):; axis sguare;

.
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t = linspace (0, 2*pi, 100); x = 2%cos(t);

plot (x,
plot (x,
plotc (x,
plot (%,
plot (x,

¥)
V) axis =square;
¥)
¥)s axis sdquare;
V): axis equal;

¥y = 2%3in(t);
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.}} t = linspace({0, 2%*pi, 100); x = 2%*cos({t); ¥ = 2*=in|(t);
>> plot(x, ¥)

>>» plot(x, y); axis sdguare;

>>» plot(x, ¥)

»» ploti(x, ¥)r; axis sdgquarce;

»>» plot(x, v); axis egqual;

»>>» plot(x, v):; axis image:;
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4 MATLAB R2022a - academic use >> ones(3)

@J % % %1 GlEZEmey

=AM
[
[
[

NEBEI T R oy . OF ST HWEY E 4@ [&es 11 1
- - - - m qé*ﬂl - - = = = -"éli 1 1 1
g =4 ic =49
> zZeros ()
@ % EHal & T » C» Users » younghoon * Documents * MATLAB
oM =4 @ (& BE7| - CUserstyounghoonWDocumel  ans =
0|12 | testm | + |
“ testm 1 12 E E
2 3.500000 4,520008
3 1.890000e+02 ]
- = 2. 0R00R05102 »» C = [1 2 3]: length(C)
ans =
3
> A= [12 3; 4586 78 9];
>> sum(h)
ans =
1z 15 18
»» abs (-3)
ang =
3
»» fp = fopen('test.m", "wW'):
»>>» fprintf(fp, "%d Id\n', 1, 2):
»» fprintf (fp, '"%f %f\n', 3.5, 4.5):
»» fprintf(fp, "% %e\n', 100, 1000);:
=» foclose (fp):
*>» a = load('"test.m");
Fod =
e ;'?—I- »> Random matrix = rand(2, 3)
0| & ~ E,t
- 1,2:3.5000,4.500 Random marzx
testm (MATLAB T.E I+g) v 0o 1,2:350004.500-
FH A [1.2,3:4,5,6,7,8,9] 0.8147 0.1270 0.6324
tH ans [0.5387,0.0512,0.... 0.9058 0.9134 0.0975
Hb 2
EHC 3 »>» rand|('seesd', 3)
EHC [1 23] »>> rand(2, 3)
@] f Ix1 inline ans =
i fp 3
HﬂRandDm_matrix [0.8147,0.1270,0.... 0.5387 0.0512 0.3010
t Tw 10 Arushils 0.3815 0.2851 0.1277
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